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1.	 cosx = sinx4    ⇒   4.cosx = sinx

	 ⇒   sin
cos

x
x

4
1

=

	 ⇒   cotx = 4
1

a

x

4

1

a2 = 42 + 12

a2 = 16 + 1
a = ò17

sin2x = 2.sinx.cosx

	 = a a2 4 1
$ $

	 = 
a
8

17
8

17
8

2 2= =
^ h

Cevap: E

2.	 cos4x = cos2x

4x = 2x + 2kp

4x = –2x + 2kp

2x = 2kp   ⇒   x = kp	 ⇒   k = 1
6x = 2kp   ⇒   3x = kp	 ⇒   k = 1

3
r  ,   0 < x < p   aralığında olup

	 x 3
r

=    olur.

Cevap: D

3.	 arccos = cos–1

cot arccos 7
3c c mm = cota

	
	 a

	arccos 7
3c m	= a

	 cosa	= 7
3  = 3

7

ñ7

a

t

ñ3

(ñ7)2 = t2 + (ñ3)2

7 = t2 + 3
4 = t2

t2 =

O halde cot arccos 7
3c c mm = cota

	 = t
3

2
3

=

Cevap: C
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4.	 	 B 

8
12

A C 
2a a

sin sin2
12 8
a a
=

. .sin cos sin2
12 8
a a a

=

cos2
12
a

 = 8

12 = 16.cosα

16
12  = cosα

cosα = 4
3

4

a

t

3

42 = t2 + 32

16 = t2 + 9
t = t2

t = ñ7

tanα = t3
7
3=

Cevap: D

5.	 cos(α – 3p) + sin 2a
r

-c m

cos(–(3p – α)) + sin 2
r
a- -c c mm

cos(3p – α) – sin 2
r
a-c m

cos(2p + p – α) – sin 2
r
a-c m

cos(p – α) – cos(α)
–cosα – cosα = –2cosα

Cevap: D

6.	 sinx = 0,6   ⇒   sin2x = ?

5

x

3

t

52 = 32 + t2

t 4=

sin2.x = 2.sinx.cosx

	 = 2 5
3

5
4

25
24

$ $ =

Cevap: E

7.	 sin cosx x
3
12 2

- =^ ch m

sin2 x – 2.sinx.cosx + cos2x = 3
1

sin2x + cos2x – sin2x = 3
1

1 – 3
1  = sin2x

3
2  = sin2x

Cevap: A

8.	 tan75 – cot75 = cos
sin

sin
cos

75
75

75
75

-

	 = .sin cos
sin cos

75 75
75 752 2-

	 = . .sin cos
sin cos

2
2 75 75

75 752 2-

	 = .
sin
cos

sin
cos

2
150
150

150
2 150-

=
-

	 = –2.cot(150)
	 = –2.cot(180 – 30)
	 = +2.cot30
	 = + 2ñ3

Cevap: B
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9.	 .sin arcsin arcsin2
1 2 2

3
- +c cm m> H

	 	
	 a	 b

arcsin 2
1
-c m = a   ⇒   sina = 2

1
-

	 a = 150

arcsin 3
2c m = b   ⇒   sinb = 3

2

	 b = 60
sin(a + 2b) = sin(150 + 2.60)
	 = sin(150 + 120)
	 = sin270
	 = –1

Cevap: D

10.	 2
1  – sin2 12

r  = 2
1  – sin215

	 = sin
2

1 2 152-

	 = cos2
30

3

2
2

=

	 = 3
4

Cevap: B

11.	 °
°

sin
cos

15
105

cos
sin sin

sin90 15
15 15

15 1
+

= =
^ h

Cevap: D

12.	 sin cos3 6 6 3 2
1

2
3

$ $ $ $
r r

=

	 = 4
3

Cevap: D

13.	 .
. .

.sin cos
sin cos

sin
sin cos

cos83 97
7 7

90 7
7 7

90 7=
- +^ ^h h

	 = .
.

sin sin
sin cos

7 7
7 7 1

-
=-

Cevap: C

14.	 cos arcsin 3
1

r-c m
	
	 a

arcsin 3
1  = a

sina = 3
1   olur. Öte yandan  cos(p – a) = –cosa yi istiyor.

3

a

1

t

32 = t2 + 12

9 = t2 + 1
8 = t2

2ñ2 = t   olup   –cosa = t
3-

	 = 2 2
3-

Cevap: D

15.	 cot tanx x
1 1 2
tan cotx x

- =

^ ^h h

.tan cot
tan cot

x x
x x 2-

=

tanx – cotx = 2   karesini alalım.
(tanx – cotx)2 = 22

tan2x – 2tanx.cotx + cot2x = 4
tan2x + cot2x – 2.1 = 4
tan2x + cot2x = 6

Cevap: B
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16.	 . .
. .

cos cos sin sin
sin cos cos sin

65 10 65 10
20 15 20 15

+
+

cos
sin

sin
sin

55
35

35
35 1= =

Cevap: E

17.	 ?

cos
cos sin

cos

sin
sin cos

x
x x

x

x
x x

2 1

2
2 2

2
2 2-

-
+

=

cos sin
cos sin

cos sin
sin cosx

x x

x
x

x
x x
1

2 2
2 2

2 2
2 2-

-
-

+

cos2x – sin2x = cos2x
Cevap: E

18.	  :sin

tan cosec
sin cosx

x x
x x2

2
1

2
+

+
f p

:sin

sin
cos

sin

sin cosx

x
x

x

x x2
2

1
2

+
+

f p

.sin
cos
sin sin

cos
x

x
x x

x2
2

1
12

$+
+

c m

.sin
cos
cos sin

cos
x

x
x x

x2
2

1
1 12

$+
+

-e ^ h o

.
.

sin cos
cos

cos
cos sin

cosx x
x

x
x x

x
1

1
1 1

$+
+

- +e ^ ^h h o

. .
cos

sin cos sin sin cos tanx
x x x x x x+ -

=

Cevap: C

19.	 tan(x + 45) = 2

.tan tan
tan tan

x
x

1 45
45 2

-
+

=

tan
tan

x
x

1
1 2

-
+
=

tanx + 1 = 2 – 2tanx
3.tanx = 1

tanx = 3
1

t

x

1

3

t2 = 12 + 32

t = ò10

sinx = t
1

10
1

=

Cevap: A

20.	 sin2x + sinx = 0
sin2x = – sinx
sin2x = sin(–x)
2x = –x + 2kπ   ⇒   3x = 2kπ      k = 0	 x = 0

	 k = 1	 x = 3
2r

	 k x2 3
4r

= =

2x = π – (–x) + 2kπ   ⇒   x = π + 2π

Cevap: C


